]%Precipi’ro’rion - also known as the reaction quotient

To predict whether a salt at a given concentration will precipitate out, calculate the
reaction quotient Q and compare it to the Ksp

Example:;

Abc\ CS) ? ﬂré*C(»q) + CI_C%ZDJKSP:'Q%X,D.-’O
Q1EHS+:(ECI_,3

Q < Ksp ; the reaction proceeds to produce more products (dissolved
ions), so more solid is able to dissolve: NO PRECIPITATION

Q > Ksp ; the reaction proceeds to produce more reactants (solid),
¥ so solid falls out of solution: PRECIPITATION OCCURS

X% Q =Ksp ; the reaction is at equilibrium. PRECIPITATION IS JUST BEGINNING
Would a solution with (Ag+) = 0.014 M and (CI-) = 0.00042 M precipitate?

B~ Th 300 = (o o14m) (0.0004tm) < S, CE¥I0
B S.56x10"° > LEx10”
l()\ > Lfgdo So pf‘cctp\\‘c«hom OCCVWSJ




WQLe Chateleir's Principle

The "common ion effect" affects the solubility of a compound in solufion. The presence of
one of the ions in a salt in the solution will REDUCE THE SOLUBILITY of that salf!

Ay Lty = Ay tey) + (I Leg)

Silver chloride is much less soluble in a solution of 0.1 M NaCl than it is in
distilled water. Why? The presence of CHLORIDE ION forces the

solubility equilibrium back to the left, meaning less silver chloride can
dissolve!

Solubility can also be affected by pH - depending on the acidic or basic properties of
the salt!

A second example: Salicylic acid in the characterization lab
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Calculate the solubility of AgQCl in disfilled water. Then, calculate the solubility of AgCl
in 0.10 M NaCl solufion. Report both answers in parts per million (mg/L)

Pro CLEs) T Ag™ Cug) « (LU Cog) Agz\‘ s

Nspx 1. 6nio™ = TAG* YUY | 0 ) as g
For AgCI dissolving in distiled water: 143.35 9/md
Seecies | TInitiat 3] A Cunxl:\omm}

Ag 0 4+ X X

an O + X X

)(L“ A

LAY bU0Y g6 w0

= L34 bH0 g6 w0 > - E/“J M |)As,;o|ud

” o Ay Q) I

L

? ° | v } "n(lrh

-3
mbu 0% ASCI

(in distilled water)




2

’ ng)(,\(g) \: ASTChcb) + (,[ﬁ(cnij
|\(SP1 SRR t/\frltﬂ'}

For AgCI dissolving in 0.10 M NaCl solution:

Seecies | LIvitict 3| A EQqusl:‘ofwm}
g 0 + X X
ak 0 .10 + X 0.10 +Xx

(X](O.lo-ﬂﬂ T, 10"
\I \KLC O:lOISD 0.0 €X X U_to
/

~1D
O.l0y = | . %~ 1

YO P AR 1Y '9:@19*] b CAf)[']Jlsso|ut’A

-9
L% %1 | /+ Cl kel a4, L n -
L o\ ()Tb{i [0 j (0.,000606 [\l?h}
Compare:
1.9 ppm in distilled water (In' 0.10 M NaCl solution)

0.00026 ppm in 0.10 M NaCl solution
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oH AND SOLUBILITY

* -
My Cop)y () — mgL Cog ) + 2O " (g ) ksp Liulo™

This compound's solubility is pH dependent. How?

* In a BASIC solution, the concentration of hydroxide ion in solution is high.
, SO solubility is LOWER than in pure water.

*In an ACIDIC solution, we have a significant amount of hydronium, which
can react with hydroxide. This lowers the hydroxide concentration and makes
magnesium hydroxide MORE SOLUBLE

Generalizing

If a compound is BASIC, then it will be LESS SOLUBLE in basic solutions, and MORE SOLUBLE
in acidic solufions!

If a compound is ACIDIC, then it will be MORE SOLUBLE in basic solutions, and LESS SOLUBLE
in acidic solutions!

If a compound is NEUTRAL (neither acidic nor basic), then its solubility will be
UNAFFECTED by pH



